PLEASE RE-DO THE CIRCLED PROBLEMS AS SIMPLE AS POSSIBLE AND SHOW EVERY STEP NO MATER HOW SMALL IN A NEAT MANNER PLEASE.  MY LAST SETS OF RETURNED HELP WAS A MESS.  THEREFORE I HAVE TO ASK FOR HELP ALL OVER AGAIN!  ALSO, LAST TIME I KINDLY ASKED TO REATTAACH THE PROBLEM SHEET I GIVE YOU.  AS NICELY AS I ASKED LAST TIME ONLT A FEW KINDLY FOLLOWED MY INSTRUCTIONS.  I AM AN ADULT STUDENT AND LIKE ORGANIZATION.  THANKS!

[image: image1.jpg]{
U

3)‘. T"e H“Jc)(’ velve ‘°f a cerdern /\nc/&s\/r,‘l mcc/ﬂ”P Aecrecses

{ 04 =) ro«4’ "A-:-/ (/)cﬂjp( \\,/ \//VMP‘ (,(,bh ‘-}é,’
Mcc/\”"e 15 X yPoi'S '0/(/[) /*)5 \/q/(/P}f A’Cﬂ"f“"j o~ 46 V‘ovl-é‘ o\ll
i 6 W ()&Ffo)&’)//tﬂ/\/r, ﬁy Aaw "V\va o/o*’; «/fp MC(A,hé

oyer s 1o yr pe“'oa

Olppj-ecm/e doring «}'Q Second 7,,7

a ‘ﬂ-rmer.f O (' " AU&J’?/S)
;)4061"/_1 éo/ﬁ/cy.ﬁy
_/é nexs J‘u,e

Ly oAbl b deys flom o

A, ke o 9237
4%()-;/0 [N Chees © 0/(/1“)1/!3
xed 6“}' 93 /é(/—7

@ Tt g5 eshime
WV be j Creasing

U(“\ w! /) “Y(f Uo/b‘*? o

L\own"
/.ew\cmj ‘)(\)

ey $ ~ b m”;;},orfd’

@ A Vhaz-l\)n? jey',-PVO‘)PS ;e venuv

ond Qrw‘nch co&‘l_j GCCLim u

@ G?‘ ‘M‘ rc-le‘ Q/(f) :'/>°)$\O "/g“{;?J‘°//”f/y/-
/ol(> & 96 rte ("(-/) :3,13.0“//9"3

Cjo ”crj /\/ r.
Q) /\Lw 'W!cﬂ7 y(’c,j P‘-ss /)
jﬁ)f’j(nﬁ “La(oc/m.? 3
)3) (»JMIOI/J? "l/(‘ V\?Jﬁar””ijeH?r’o

Pemacl I /Dor‘} “ .
) Sheth o revers de corve y= RO ond 6 coch rote

Curve Y= C"(~/) ond Shede /6 regien whese oreq

ﬁppw;em‘lg ‘7’@ h?"‘?crnu)f (om,O&

e‘éH’ ‘/4: /HO\/;’LA/} a a‘”‘(’ Mo-c/\ )5"7{’

Jé‘o] 47 % YVP:-rA-ﬂe ‘Qver']é \/IW

J»‘ i PG”\/A s

@ RIQDC‘ ilawg +)\ r*Dle\CV\ ar“?ry Q‘F’ faé//1;$ P. A+ OD/I'S‘LHCF
rem e 1k v ' '
A cenIrl ax/] o A ar“)?ry ; Jb Jpeed S

Lfood I8 qiven L By =
Speed ol j‘o b) \/' (/r> = k¢ /?&-ra). Show {hd b ererse
F{, s>d g ‘{) -}(p o PRO TS fpep/,




[image: image2.jpg]440

34.
35.
36.
“ campaign were coming in at the rate of 2,000re~** dollars per
37.

38.

39.

40.

41.

Chapter 7 Methods of Infegration

After ¢ seconds, an object is moving along a line with veloc-
ity of re~"/> meters per second. Express the position of the
moving object as a function of time.

After ¢ hours on the job, a factory worker can produce
1007e~%%" units per hour. How many units does the worker
produce during the first 3 hours?

After ¢ weeks, contributions in response to a local fund-raising

week. How much money was raised during the first 5 weeks?
Find the volume of the solid generated when the region under
the curve y = e~ on the interval [0, 2] is revolved about the
y-axis.

Find the volume of the solid generated when the region under
the curve y = sinx + cos x on the interval [0, 7] is revolved
about the y-axis.

Find the volume of the solid generated when the region under
the curve y = Inx on the interval [1, e] is revolved about the
indicated axis:
a. x-axis b. y-axis

Find the centroid (with coordinates rounded to the nearest
hundredth) of the region in the first quadrant bounded by the
curves y = sinx and y = cosx and the y-axis.

Find the centroid (with coordinates rounded to the nearest
hundredth) of the region bounded by the curves y = e*,
y.—ex*, and thellineixi—11.

In Problems 42—43, solve the given separable differential equa-

45.

46.

47.

48.

tions.
d . d
(42, ﬁ = 43. ﬁ = /Xy Inx
44. Find a function y = f(x) whose graph passes through (1, 1)

and has the property that at each point (x, y) on the graph, the
slope of the tangent line is y tan~! x.

Find a function y = f(x) whose graph passes through (0, 1)
and has the property that the normal line at each point (x, y)

on the graph has slope EE{.
Xy

Suppose it is known that f(0) = 3 and
f [f(x)+ f'(x)]sinxdx =0
0

What is f(m)?

Because a rocket burns fuel in flight, its mass decreases with
time, and this in turn affects its velocity. It can be shown that
the velocity v(z) of the rocket at time ¢ in its flight is given by

— kt
v(t) = —rln o

where w is the initial weight of the rocket (including its fuel)
and r and k are, respectively, the expulsion speed and the rate
of consumption of the fuel, which are assumed to be con-
stant. As usual, g = 32 ft/s? is the constant acceleration
due to gravity. Suppose w = 30,000 Ib, r = 8,000 ft/s,
and k = 200 Ib/sec. What is the height of the rocket after
2 minutes (120 seconds)?

In physics, it is known that loudness L of a sound is related to
its intensity / by the equation

L="101 I
— 0og —
g 7

decibels, where Iy = 107'% watt/m? is the g
dibility (the lowest intensity that can be hearg),
average value of L as the intensity of a TV gh,
tween Ip and I; = 3 - 1073 watt/m>?

49. The displacement from equilibrium of a mass q
end of a spring hanging from the ceiling is gjyen

y = 2.3¢ %% cos 5¢

feet. What is the average displacement (roundeq
est hundredth) of the mass between times t = ()
seconds?

equilibrium point

iy

50. A photographer is taking a picture of a clever signi
of a truck. The sign is 5 ft high and its lower edge s}
the lens of the camera. At first the truck is 4 ft
photographer, but then it begins to move away.
average value of the angle 6 (correct to two decims
subtended by the camera lens as the truck moves fig
20 ft away from the photographer?

sign

Sft

1ft

camera 4

51. If n moles of an ideal gas expand at const
T, then its pressure p and volume V sati
pV = nRT, for constant R. It can be showi
done by the gas in expanding from volume V,

w RT1 %
=n nVl

What is the average work done as V incre&
V, = 10V;?

2x —1) ,
52. Evaluate / (%—)e“" dx.
X

53. Derive the reduction formula

n-1,%
/xnexdx:xlle.\_nfx e‘

(This is Formula 486, witha = 1.)
54. Derive the reduction formula

/(lnx)" dx =x(Inx)" — n/(hlx,

(This is Formula 501.)





